Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-IV « EXAMINATION - SUMMER 2013

Subject Code: 340602 Date: 05-06-2013
Subject Name: Surveying 1
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (@  Intrigonometric leveling derive equation for distance and height when
base of object is accessible.
(b)  Discuss advancement in total station technology
Q.2
(@)  Define the anallatic lens and write advantage and disadvantage of it.
(b)  Intacheometric surveying, following readings were taken with vertical
staff. Determine RL of ‘A’ and ‘B’. Take value of tacheometric constant
as 100 and 0.

Instru | Staff | Hight of | Vertical | Readings Remarks
ment | at Instrume | Angle
statio nt
n.
O |A 1.5 +20°00° | 0.5,1.2,1.51 | R.L. of
0] B 1.5 -8°30" |25,3.054.8 | Ois 100
m

OR
(b)  Find out the tacheometric or stadia constant from the following

observation table.( o{l Yosuloll UclAsallel (5222 ol U S

alll.)

Instru | Staff | Distance Staff Readings (m)
ment | Statio | between
station | n Instrument and
Levelling staff
(m)

@) A 300 0.450 | 0.850 | 3.450

B 200 1.115 | 2.545 | 3.115

Q.3
(@  Describe various instrument used in tachometry
(b)  What are the precaution to be taken while using total station?
OR
Q.3 (@  Write a short note on “Traversing using total station”
(b)  Write initial settings made during field work using total station

Q4
(@  Explain fundamental parameters of total station
(b)  Give classification of curve and explain any one in detail with figure

OR
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Q.4

Q.5

Q5

U —q

UAA—2

(a)
(b)

(@)

(b)

(a)

(b)

Draw a sketch and explain the elements of simple circular curve.
Calculate first five lengths at interval of 5 meter from long cord for
seeting out of circular curve from the following data. Angle of
intersection is 60° and radius of curve is 180 m.

Two tangents PQ and QR are intersecting at angle 60°. Calculate
following elements of curve if radius of curve is 280 m.
(1) Tangent Length (2) Length of long chord
(2) External Distance  (4) Mid ordinate
Answer all of the following.
(1) Define trigonometry levelling
(2) Define tacheometric surveying
(3) Tacheometric surveying can be used for hydrological survey.
(True/False)
(4) Write methods of Tacheometry.
(5) Give the full form of EDM.
(6) What is the function of microprocessor with memory unit in Total
station.
(7) Name the types of total station.
OR
In tacheometric derive the expression to calculate horizontal distance and
vertical difference when line of sight is inclined and staff held vertically
for the case of angle of elevation.
State advantages and disadvantages of total station.
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2 AsleRQa AQRML VAR U GAUE U2 of Y2 Aacl AR W]
dlily yasna sl

dlect Raot A =AA youldell uAl 53

2 AAlARS Ao 9 B? Aol SIAEL Wal ARJLAEI AV,

U ARSIQHIUt ATl oA Yosolotl MaAsall A B. dl elst
‘A’ U ‘B’ oll RL L. 2(520Hl2R oll WANS 100 W O B.

&

o)

GUs? | dAal | ddR | dRsd | dAawt €5 | Ruusd

QL |QLES |osUR | Y0l didalis (m)
RUlel | Wlel | dlUall
5
o |A 15 +20°00° |05,1.2,1.51 | R.L.of
O |B 15 -8°30° |25,3.054.8 |Ois100

m

YAl

4 o{lA Yuwoall Aacsallell 2(sAleR ol wWANls AWl

Gus? | dAdall | GuslWL Aal AQ&QL €5 dijalls

BWlel | Wlel | AR of vcR

QL £S daeal €s (m)
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(m)

o) A ]300 0.450 | 0.850 | 3.450
B | 200 1.115 | 2.545 | 3.115
B ARSIQUHIUAHL AURLAL Bus aulal.

2lecd Rl AlluRcdl dura tauetHl Actlel uLaA{RA wRuA.
Yl
gsolll AUl - “l2E 2ol A HIARWER

(3esad eHRUel S 2led RaUotoll Aol AR AL,
2led Rotall Yoo AR{ler umendl

dAsall YUslR RUAl Aol Sleurl As gl us Qrcr ol quedl
Yl
RN ANOUSR asoll ugcl €131 Aol uesl AHAA

o(lAatl 32t wRel aduusk ds wisal e eldeyal uR 5 Yl ol vR
UajcAloll QAL 5A. Bea5Q 60°, asell Blxaul 180 L.
A uglsl PQ ual QR, 60° oll WAl BE B. %l asell B2 280 . &l
Al Astl ol Aetl ol awal.
(1) s R (?) eldyalell cous
(3) Gllal AR (¥) 2AR>AUL
o(1A Ul €35 ol gcllol L.
1) BsRQa daseell catval A,
(2) BcdRsRHIU Adelglell catvaul a1,
(3) dRslHIUet ULl et 12 BualoaL 53l
Asla. (RUY 7 W)
(4) vicdRslHIUstofl Al cul.
(5) EDM of 3y ol AUl
(6) 212 R2tHL memory unit AL =il microprocessor o sl
A,

(7) 2led R2Ustall YUsIRA Rl
8l
VARSI UL 2R ERul 2Rl Sl dal GAdsll wetiadl sl

UA €5 Galul UsSAL Sl RAUR R W GUY ol dslelct cllo
Y2 dRdl.
2lec w2lotoll SLAEL Wal ARLAEL sRUCl.
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